MathsMind 2013
Year 10
	Question  1
In a 52 week year, Leigh manages to save $7.50 every 2nd week and $9.50 every 4th week throughout the year. 
How much has Leigh saved by the end of the year?
 

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  2
The sum of six consecutive whole numbers is 567. 
What is the smaller of these six numbers?
  

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  3
A car is travelling at 50km/h around town. 

How many metres does it travel in 5 seconds? 
(Round answer to the nearest metre).
  

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


MathsMind 2013
Year 10
	Question  4
The year 2013 may be written 20+13 = 33.    The answer 33 is ODD and evenly divisible by 11.

What year is the next time this will happen?
  

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  5
On a number line what fraction is positioned exactly three quarters of the way between one quarter and one fifth?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question 6
A large square contains 9 identical squares. 

The perimeter of the large square is 204cm. 
What is the area of each small square?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  7
Two squares have a combined area of 80 cm2 and a combined perimeter of 48 cm. 
What is the perimeter of the larger square?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  8
Tauranga citizens were surveyed about whether they liked the new toll road proposals. When counted, 749 people voted “yes” and the ratio of “yes” votes to “no” votes was 7:4. 

How many people were surveyed?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question 9 

Diana bikes from her house to the mall at a speed of 20 km per hour and returns home again at a speed of 12 km per hour. Her total travelling time was 1 hour. 
What is the distance from her home to the mall?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  10
If

D+E = 20

E+F+G = 42

D+F+G = 46

What is the value of F+G?
  

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  11
M = 8% of 150     A = [image: image2.png]5
> 0f 56




T = 125% of 16     H = [image: image4.png]2
12 of 9




S = 0.2 of 65

What is the value of M+A+T+H+S ?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  12
A circle has area = 𝜋 cm2, a square has area = 𝜋 cm2
What is the sum of their perimeters? Answer to 1d.p.


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  13
The sequence of numbers:   2,3,5,8,13,21,…   is an example of a sequence of numbers where each new number is obtained by adding the two previous numbers.

A new sequence like the one above is started with the number -1 (the first term) and the 8th term is 44 and the 9th term is 71. 
What is the 2nd term?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  14
Two diagonally opposite corners of a square are at points 

(8,11) and (14,7).

What are the coordinates of the other two corners of the square?
  

	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question 15  

How many digits are there in 2007?  

(two hundred to the power of 7)



	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question 16 

Cheryl has 5 fewer than twice as many rugby cards as Sammy. If Sammy had 12 more they would have the same number of cards. 
How many cards does Cheryl have?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  17
A plane is just taking off from an island in the pacific when a volcano erupts nearby demolishing part of the runway and setting off a tidal wave (tsunami) which radiates outward at 600km/h.

The pilot knows he must fly to his destination island and that he can maintain an average speed of 800km/h for the journey. He knows that when he lands it will take 40 minutes to get everyone to higher ground and safety. The pilot and passengers just make it to safety as the tsunami strikes the destination island.

How far apart are the islands?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  18
A man has six ties. Three are red, two are blue and one is grey and he randomly chooses two ties to take on a trip. 

What is the probability the chosen ties are the same colour?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  19
  What is the next number in this pattern? 

 
 
1, 4, 27, 256, … ?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


	Question  20
Craig can dig a particular garden in 40 minutes, while Steve takes 60 minutes to dig the same garden. 
How many minutes would it take them to dig the garden together?


	Attempt 1
	Attempt 2
	Attempt 3
	Attempt 4
	Attempt 5


